PRODUCT, QUOTIENT, & CHAIN RULE PRODUCT RULE $f(x) = 3x^4 \cdot 4x^5 = 12x^9 \quad f(x) = 108x^6$ Pix) - 12x - 25x = 240x $f(x) = (x^6 - 3x^4 + 7)(3x^4 + 2x^{1/3} - 5)$ $f(x) = (x^{6} - 3x^{8} + 7)(-12x^{5} + \frac{2}{3}x^{-2/3}) + (3x^{4} + 2x^{6} - 5)(6x^{5} - 24x^{7})$

$$\frac{d}{dx} \frac{f}{g} = \frac{g \cdot f' - f \cdot g'}{g^2}$$

$$= \frac{|\omega \cdot d'high - high \cdot d'/\omega}{|\omega \cdot d'|}$$

$$f(x) = \frac{4 \sin x - 3x^5}{8x^{219} - \csc x}$$

$$f'(x) = \frac{(8x^{219} - \csc x)(4 \cos x - 15x^4) - (4 \sin x - 3x^5)(\frac{16}{9}x^{24} + \frac{\cos x}{61x})}{(8x^{219} - \csc x)^2}$$

$$f(x) = \begin{cases} \frac{1}{(x^2+3)^9} (x''-2x^5)^4 \\ (x^2+3)^9 (x''-2x^5)^4 \end{cases}$$

$$f(x) = 89 \begin{cases} \text{Something} \end{cases} \begin{cases} (x^2+3)^7 (x''-2x^5)^4 \\ (x^2+3)^7 (x''-2x^5)^4 \end{cases}$$

$$= \begin{cases} \frac{1}{(x^2+3)^9} (x''+3)^4 + \frac{1}{(x^2+3)^9} (x''-10x) + \frac{1}{(x^2+3)^9}$$

Find f'(x). - De derivative twice.

| Slope. | Point.

| 18-19 | Find f'(x). | Plug in x in original ag = y-comp.